

The best criterion for success in a capital budgeting decision would be to: 

A)
minimize the cost of the investment. 

B)
maximize the number of capital budgeting projects. 

C)
maximize the difference between cash inflows and cost. 

D)
finance all capital budgeting projects with debt. 


When Patricia sells her General Motors common stock at the same time that Brian purchases the same amount of General Motors stock, General Motors receives: 

A)
the dollar value of the transaction. 

B)
the dollar amount of the transaction, less brokerage fees. 

C)
only the par value of the common stock. 

D)
nothing. 


Within the realm of ethical decision making, managers should attempt to 
            maximize: 

A)
the market value of the shareholders’ wealth. 

B)
their compensation plans. 

C)
their firm’s market share. 


D)   the profits of the firm.



The decision rule for net present value is to: 

A)
accept all projects with cash inflows exceeding initial cost. 

B)
reject all projects with rates of return exceeding the opportunity cost of capital. 

C)
accept all projects with positive net present values. 

D)
reject all projects lasting longer than 10 years. 


What should occur when a project's net present value is determined to be negative? 

A)
The discount rate should be decreased. 

B)
The profitability index should be calculated.

C)
The present value of the project cost should be determined.

D)
The project should be rejected. 


Changes in net working capital can occur at: 

A)
the beginning of a project. 

B)
the end of a project. 

C)
any time during the life of a project. 

D)
the beginning of any accounting period. 


The statement "We've got too much invested in that project to pull out now" possibly illustrates the need to: 

A)
switch to an accelerated method of depreciation. 

B)
be reacquainted with the concept of sunk costs. 

C)
reduce net working capital assigned to the project. 

D)
reduce discount rates to improve NPV. 


A stock's beta measures the: 

A)
average return on the stock. 

B)
variability in the stock's returns compared to that of the market portfolio. 

C)
difference between the return on the stock and return on the market portfolio. 

D)
market risk premium on the stock. 


The minimum acceptable expected rate of return on a project of a specific risk is the: 

A)
project cost of capital. 

B)
company cost of capital. 

C)
risk-free rate of return. 

D)
project beta times market risk premium. 


Why is debt financing said to include a tax shield for the company? 

A)
Taxes are reduced by the amount of the debt. 

B)
Taxes are reduced by the amount of the interest. 

C)
Taxable income is reduced by the amount of the debt. 

D)
Taxable income is reduced by the amount of the interest. 



The purpose of sensitivity analysis is to show: 

A)
the optimal level of the capital budget.

B)
how price changes affect break-even volume.

C)
seasonal variation in product demand. 

D)
how variables in a project affect profitability. 


A company's board of directors is primarily an agent of the company's: 

A)
management. 

B)
employees. 

C)
shareholders. 

D)
management and employees. 


One common reason for issuing two distinct classes of common stock is to: 

A)
sell different classes to increase profits. 

B)
allow one stock to increase in price while the other class declines. 

C)
restrict voting privileges from some shareholders. 

D)
conserve cash by offering dividends to only one class of stockholders. 


When underwriters issue securities on a best efforts basis, they: 

A)
sell as much of the stock as possible, but with no guarantee. 

B)
submit a bid for purchase, which the issuer compares to other bids. 

C)
buy the entire issue from the firm. 

D)
guarantee that the issuer will receive the spread. 


A major purpose of the prospectus is to: 

A)
inform investors of the security's rate of return. 

B)
inform investors about the firm and securities being sold. 

C)
distribute stock warrants to prospective investors. 

D)
list the security's dividend payment dates. 


Shelf registration was enacted to allow: 

A)
the Department of Justice to prosecute those guilty of insider trading. 

B)
the prospectus to be distributed after the sale of securities begins. 

C)
underwriters to join together in syndication. 

D)
single registration of limited future financing plans. 


Blue-sky laws exist in order to: 

A)
protect stock underwriters from fraudulent firms. 

B)
restrict the amount of profit from IPOs. 

C)
control the amount of stock owned by one investor. 

D)
protect investors from deceptive firms. 


The Securities and Exchange Commission will not permit securities to be sold: 

A)
if they have been overpriced. 

B)
prior to approval of the registration statement. 

C)
unless the issuer guarantees their value. 

D)
until a shelf registration exists. 


A private placement avoids which of the following costs: 

A)
depression in the stock price 

B)
administration costs 

C)
registration with the SEC 

D)
fixed costs 



Arbitrageurs are said to look for riskless profits by: 

A)
contracting in the forward exchange markets. 

B)
buying at the spot rate and selling at the forward rate. 

C)
buying in one market and selling in another to take advantage of different prices for the same good. 

D)
buying short-term bonds and converting them to long-term bonds. 


When shareholders attempt to garner additional votes in an attempt to oust management, it is called a: 

A)
management buy-out. 

B)
tender offer. 

C)
proxy contest. 

D)
poison pill. 

Problem 1
Problem 1 is a ratio problem for Microsoft.  It is attached as an Excel worksheet. Please complete it on the template and attach it to the message posting your final.
Problem 2
Quick Printing is considering buying a new printing press.  The press will cost $150,000 and the machine can be sold for $30,000  in year 5.  The machine is expected to increase net cash flow (revenues less operating expenses) by $35,000 each year for five years and then the machine will be sold.  Quick’s cost of capital is 12%.  Should Quick purchase the machine?  Please show all you work.

Problem 3
 Calculating WACC. Reactive Industries has the following capital structure. Its corporate tax rate is 35 percent. What is its WACC?

Security 


        Market Value 

Required Rate of Return

Debt




 $20 million 


   6%

Preferred stock


 $10 million


   8%

Common stock 


 $50 million


 12%

Problem 4

Using Percentage of Sales. Eagle Sports Supply has the following financial statements. Assume that Eagle’s assets are proportional to its sales.
Income Statement—2006

Sales


$950

Costs


  250

Interest

    50

Taxes


  150
Net Income

$500

Balance Sheet                           2005
   

   2006

Assets


      $2,700


$3,000
Total Assets


      $2,700


$3,000

Debt



      $   900


$1,000

Equity



        1,800


   2,000
Total Debt and Equity
      $2,700


$3,000
a.
Find Eagle’s required external funds if it maintains a dividend payout ratio of 70 percent and plans a growth rate of 15 percent in 2007.
b.
 If Eagle chooses not to issue new shares of stock, what variable must be the balancing item?  What will its value be?
c. 
Now suppose that the firm plans instead to increase long-term debt only to $1,100 and does not wish to issue any new shares of stock. Why must the dividend payment now be the balancing item? What will its value be?
